ki3

($8%€)
X B #% =
miE(m) REAREFH(F) R
EE|RER [HETFR| KF |BARROEH EHFL BES
s y IHHFA | g, SHE4A | RRXES | FHAE
BRI o s | EREEN wle i  (m) )
1 [Em [EFT (B SIERIHh D BREE R4 (2) I-419 15,784 5,798 6 6 29 39
2|88 |iBEm  |t&)I SUERIHh D BRI [WB)I(1) I -440 37,970 11,936 27 8 39 39
3|iEm  |BRmm | TERG |[SERMOERE|$ 1-656 18,870 9,063 11 3 70 40
488 |EEw |TEEeE|2ERHOFRIE [ /INMAE I -658 15,710 3,676 12 6 19 43
5B MBEh | TEETTHITE | 2ERhOBRE | hiT 1 -664 30,452 11,654 24 6 58 42
6 iEF  Brm | FEZEV/NR[RIERIHOERE|/NER) 1 -3520 33,513 15,276 59 1 51 37
70 |EEm [|AK SERIHh D BRI [ 47K (209) I-90121 15,726 6,702 6 1 46 38
8 iBm  |sEth | TEESIE |2IERIMOBEE |51 E®) IV-9036 10,495 2,982 6 2 30 46




ki3

(FERR)
X B #% =
miE(m) REAREFH(F) R
EE|RER [HETFR| KF |BARROEH EHFL BES
s y IHHFA | g, SHE4A | RRXES | FHAE
BRI o s | EREEN wle i  (m) )
1 [Em [EFT (B SIERIHh D BREE R4 (2) I-419 13,935 6,336 6 6 29 39
2|88 |iBEm  |t&)I SUERIHh D BRI [WB)I(1) 1 -440 37,258 14,432 27 11 39 39
3|iEm  |BRmm | TERG |[SERMOERE|$ 1-656 18,838 9,344 13 3 70 40
488 |EEw |TEEeE|2ERHOFRIE [ /INMAE I -658 15,682 4,381 11 6 19 43
5B MBEh | TEETTHITE | 2ERhOBRE | hiT 1 -664 30,466 12,193 24 7 58 43
6 iEF  Brm | FEZEV/NR[RIERIHOERE|/NER) 1 -3520 33,474 15,498 59 2 51 37
70 |EEm [|AK SERIHh D BRI [ 47K (209) I-90121 15,582 7,384 6 2 46 39
8 iBm  |sEth | TEESIE |2IERIMOBEE |51 E®) IV-9036 9,741 3,762 6 5 30 46




